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03 M BFAHRFZY 4,000 4,000 0
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HY I (HL 1,874,354 1,868,890 5,464
el 2l 1,798,384 1,783,360 15,024
ol 2l 1,798,384 1,783,360 15,024
101 14 dl 1,759,324 1,743,280 16,044
01 2= 1,072,433 1,082,559 A 10,126
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—4= 5,857,000& x1H x12& 70,284
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02 Mz 8 x4 39,060
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01 At 2t 2|l 30,210 30,210
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— =Xy 20,900
2 X 50,000& 53 2,650
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-RER= 3,600
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OJI2nHl 19,000
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01 J22F P2 =8l 3,300 3,300
(OFEFS; 3,300
02 It S = &H| 760 880
O A& F | 40,000& 199 760
04 EAN2I LRI 6,000 6,000
o=zgu 250,000 »12& 3,000
OAl& 1t 250,000& x12& 3,000
204 X2 FH| 7,200 7,200
01 MBS TP A 7,200 7,200
Ox% 400,000& x12& 4,800
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OAE2121 2 5,900
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